1d
£

A
“i

w1'i]
&

4

1%
T
1a@

11@
120
15@

149

150

1460
17@
180
178

20a
<1l

220
it
24
250
250
270

280
£58

RANDOMLZE TIFE

MODE 1 : BORDER @ : INE @@ @ InE 1,16 ¢ (NK 2,28 3 [HE
Sedd 2 PAFER B @ PEN 2 2 CLS

FRINMT SFACES (8) 1 "MIND FalR JFM&aS TER-MIND"

ERINT @ FRINT @ FRINMNT 2 FRINY "Level ,of Difticualty ]l -%
] |-1

ld=VAL(INEEY®) ¢ 1F 1ld<l OR [d>=9 THEN S ELSE FRINT 1d
SYHMBOL AFTER 136 3 SYMBOL 136,165,126, 219,126,102,12464.,8
L6003 SYMHOL 144,198,108 ,%546,546,108,198,198,8 @ SYMBOL 1
e 00,108, 46,12,24,0,24,80 ¢« SYMBOL. 140,.0,102,60,255,60,10
2.0 1 ByYMBOL 168,16,.594,124,254,124,54,16,0

FOR i=1 TO 8 1 PRINT : MEXT @ FRINT SFACE£(Y) ;3 "Hit anvy.

Feytobtart

IF INEEY#="" THEN 8@

DIM sc(4d,21)

te=@ : ne=@ : FOR 1=1 0 1® : tdi)=@ 1 NEXT : r=1 §: sn=
INTRND (1) *1000) ¢+ ras=asn ! di=INT(aen/100) : dd=INT{({(sn-d
I w1@@) 71@) = d2e=INT (an—dl®l@@O—-d2*10)

-
CLES 1 pr=13 1 po=2 1 mr=pr 1 mc=20

FOR 1=l 10 40 ¢ FOR O 3=5 T0 ¥ t sc(i. j)=32 ¢ NEXT 1 NEX
8

FOR i=2 10 39 5 FUR =& 10 20 : kl=INT(RHND{1)%*1.5) : L0OC
ATE 1.3 &2 FEM 1 ¢ IF k1<10 THEN FRINT CHR#f(k1+48) s (1
cid=ki+4E @ GOTO 180

FEM 3 2 1IF kl=1l@ THEN FRINT CHR#(144) : scii,j)=144 : 3
Q10 148

L klelil THEN FPRINT CHEFO1552) 8 sciil  jr=132 1 (OI0 188
FPRINT CHRE(18D) 2 sc(i,1)=1460

NEXT 3 HEXT

g ipcpr)=4d 3 LOCATE poc,pr ¢ FEN 1 @ FPRINT "@" : 1a=@

1 cusse (me.me) 2 LOCATE me,.mr 2 FEN 2 @ PRINT CHREC(LIZS)
2 sclAdY,pri=1lé6E @ LOCATE S%.pr ¢ FRINT CHR2(168) & cp=48

LOCATE 1,1 = FRINT ", .Round #";r;SFACEF () ; "Level J"31d
GhsUE 1781

c=0 1 q=1

w¥=INKEY® 1 c=c+]

IF =7 THEN g=1-¢g : o=@

IF g<-@ THEN Z%@

[F sc(poc,.pr)=23% THEN scipc.prl)=cp : LOCATE pc.pr @ PRI
NT CHR&(cp) : g=1 ¢ GOTO 298

acipc.pr) =235 3 LOCATE pc.pr 3 PRINT CHR${(233%5) : g=1

IF »E="" THEN Z40



AW 3OSLIE 1670

1@ I owd="1" R w#="1" THEN 74Q
Sl (F x%="p! (R «$="P" THEN 420
.50 1F w¥="p" UR =#="(1" THEN 4&4@
540 IF ng="@" (R a%=" " THEN 500
250 ITE wgety" OR wg="4+" THEN 700
Byt IF sg="-" (R us="=" THEN 580
7@ IF »¥F¥="@" 0OR x»&=" " THEN &32@
e IF »#&="1" (R =3$="L" THEN &6
290 IF w&=" 3 " OR n#="%x" THEN 540
AN GO 240

418 1

428 IF scipopr—1)=32 THEN 248
4.5 L s=cp-4i3

44 S (po,pr =352
450 FEUTO 760
4a6¢ IF scipa-1.pr=32 THEN 248
470 | sesgp—ai3

A sC(po pr )3y

45 GOTO 76@

b P LF sci(po+l. pri=3i2 (HEN Z24@
wlid 1 =g p-—-48

'_-HE F,JI' LT} .‘ll

LOCATE pc,pr per=pr=1

LOCATE pc.pr FRINT """ 31 pc=pc-1

b Wi " sCcipC..pri=3Z & LLOCATE pc.pr ' FRINF """ & pc=pc+l
b P14 GHEOTO 76A

S IF scipca.pr+ir=32 THEN 240

el 1 s p-46

s sripc.pri=32 : LOCATE poc.pr 3 FRINY ", " : pr=pr+l

v 7 GOTO 760
w2 {14 IF scipc+l,pr
ol 4"} L =op~a48

-11=5¢ THEN 24@

GG sC (pc.pr)=32 : LOCATE poc,pr @ PRINT "_,." 1 pr=spr-1 : pc
pc+i

H1@ HOTD 769

bl LF scipe=1,pr-1)=32 THEN 240

L ! ls=cp-43

Sa4a we (pe pri=32 : LOCATE pc.pr ¢ FRINT """ 1 pr=pr—-1 : pc
pe—1

énaldl GUTO /60

668 IF scipe-1,pr+1)=32 THEN 240

&6 | s=cp-48

EHED sCipoc.pri=32 1 LOCATE pc.pr @ PRINT "."
pr+i

&5 HUTL 760

'l IF scipec+lpr+i)=37 THEN 240

/1@ ls=cp-48

720 mc(po.pr)=32 1 LOCATE po.pr 3 PRINT " "
pr+l

Lol GUTO 7&0

740 GOSUR 880 : IF (mr<xpr) OR (mes:pc) THEN 740 ELSE 1570

pc=pc=1 : pr

pe=pc+l @ pr

751 3

F cpRss (R . pr)

77 I (ls>3) OR (1lsdl) THEN la=Q
7830 IF cp=1%2 THEN GOSUR 1050

F90 IF cp=144 THEN GUSUR 1383@



=1l
H1@
B0
g3
240
B0
B6@

874
580
290
Y00
710
220
Ll
740
FEHA
960
27/@
780

790

1@A
1814
1020
1350

1@4@
1050

186

1078
1280

17y
11@@
111@
1120

1158

1140
1153
1166
1170
1168
1190
1200@
1218

IF cp=1&@ THEN GOSUEB 1518

IF cp=14&68 THEN 1730

kl=cp~48 : IF kil<® UOR k19 THEN ki=@
IF la+klr=1@-1d THEN GOSLUE £S80
ts=ts+kl : GOSUEB 1708

IF (pr=mr) AND (po=mc) THEN 197@
GOTO 2350

tl=mc 1 tZ=mr

IF mcrpe THEN 920

[F mr2pr THEN mers=me-—-1 ¢ GBOTO Y80

mesmr+ ) o8 GOTO 8@

IF me<rpr THEN %50

IF mo*pc THEN mceme-1 8 GOTO 980

me=me+1 1 GOTO 980

IF merpe THEN 97Q

me=mc+1l @ GOT(O Y80

IF mropr THEN mr=mr+l ELSE mr=mr-—1

scitl . t@)=cu ¢ LOCATE tl.t2 = IF cud®S8 THEN t3=1 ELSE t
ST

FEN t35 : FRINI CHE£(cWu)

CuEse (me ,me )

s (mcm-) =156 @ LOCATE mcec.me 3 FEN 2 3 PRINT CHR#%(134)
SOUND 1 ,200,15,15

FE TURM

1

i=INT(RND (1) *1@) & sc(pe.pri)=i+48 1 LUCATE pc.pr 3 FEN
1 2 FRINT CHFEE(L+48)

cp=i+48 ¢+ RETURN

soipc.pr)=48 : LOCATE po.pr 3 PEN 1 2 FRINT "@" : FUOR i
=100 10 200 STEF 100 @ SOUND 1,1 .8.1% = NEXT

IF ne = 9 THEN 11%73

b INT (RND (L) w941 = IF t(kZ)=1 THEN 110@

tikI=1 : no=nc+l

Ok GOTO 113@,115%0,119@,12/0,1260,1290,1340,1360, 14101

LOGCATE 4,3 ¢ FPEN 2 ¢ FRINT "Sum oFf Digitsof Secret”
LOCATE 4,4 @ FRINT "Number Equals i

FERINY di+di+dd @ RETURN

LOCATE 4,5 ¢ FEN 3 @2 FRINT "Secret.Number . ig.'":

IF an/2 = INT(an/2) THEN FRINT "Even" 1 GOTO 1180
FRINT "(Odd"

FE T LR

k=INT (RND L) 200 +am) ¢ j=k—-200 ¢ 1IF 128 THEN i=@

IF k1000 THEN k=184

LOCATE 4,5 @ FEN 3 1 FRINT "Number Jis Hetweeng33 3 LULH
TE 4,4  FRINT "and"3k : REIURN



1220
R
1240
12350
1260
1270
1480

1290

1508
1518
R
13350
1540

1550
126

157

1380
1590
1 4G
L1

1428
1438
a4
140
14860
1478
L 485@
1450

I S8
ol
1358
| Bty

| Sk
| Qo] "

BT
Lo AlA
1 E@

| S

| étih
L éald

1 ¢
| &5
| &

| &t akh

LOCATE 4,3 2 FEN 3 1 PRINT "Number .is. "3

1F an/s/S = INT(sn/7%) THEN FRINT "Divisible" 2 GOTOD 1250
FRIMNI "Not Divisible"

LOCATE 4.4 3 FPRINT "byl5" 1 RETURN

l=dl 3 IF d&*1 THEN l=d2

IF d3ixl THEN [=d3

LOCATE 4,5 = PEN 3 : PRINT "Largest Digit_ . in the" 2 (LOC
ATE 4,4 ¢ FRINT "Secret Nunber Lis,."351 @ RETURN

LUOCATE 4,5 &2 FEN F 1 PRINT "First lDigit.in.the Secret"
: LOCATE 4.4 @ FRINT "MNumber is."s

IF di 8 THEN PRINT "Larger . .than 5" @ G070 1330

IF dl<% THEN FRINT "lLess than,3" 31 GOTO 13530

FRINT "Equal .to 3"

RETURN

LOCATE 4,5 3 FPEN 5 3 FRINT "Sum.of First.and.Third" 3 L
OCATE 4,4 = FPRINY "Digite is.":

FRINT di+dd 1@ RETURRN

LOCATE 4,5 2 FEN 3 3 FRINT "UOne, of sthe i1gits, in the" 3
LOCATE 4,4 @ FRINT "Secret Number .is."$

k= INT (RND (L) #3) ¢ IF k=@ AND sm:99 THEN FRINT dl @ GOTC
14

[F k=] AND sn9 THEN FRINT df = GUOTO 1460

FRIMT di

FE T URN

LOCATE 4,5% ¢ FEN A& @ FRINT "Froduct of .the Non-Zero! @
LOCATE 4,4 @ FRINT "Digitm_ is":

L dl=@0 AND dl2=@ THEN FRINI d3 & GOTO 1494

IF dli=@ AND dl3=0 [1HEN FRINT d2 @ GOTO 1490

IF di=@ THEN FRINI d2%d3 ¢ GOTO L4903

IF de=@ aND di=@0 THEN FPRINT d1 1 GOTO 1493

IF déd=d [THEW FRINT dli#®d3 ¢ GOTO 1490

IF cdi=@ THEN FRINT di®gd? @ GOTO 1499

FRINT o | % 2w

HE T LIRMN

scipopt)=48 ¢ LOUATE peypr ¢ PEN 1 @ FRINT "@"

b tsa bl THEN RETURN

e INTARRNDOL) #1@A) = F 1250 THEN te=ts-(@ 3 SOUND |, 30€
B,55,15% 1 HETURN

IF 1<1 THEN ts=ts+3@ ¢ SOUND 1,40,15,1%5 = KeETLRN
ta=ta+ld o SOUND 1,20Q0,15,19 = RETURN

S 2 F pr=mr ANMD pcssme THEN 161@

FOR 121 T 17 ¢ FRINI sPQCEE(?) ) "Conagratulations! " 1 ”
EXT & FRIMNIT

FRIMNT "vyouwhave Jbeaben cbhe ominot aure™ ¢ FRINMT "Your scor
(=00 TSP .

FERLET "vo Yy o aowurmds” 2 GO0 1630

FOR =1 1 172 58 PFRINT SPACEEGE)  "MINDTAUKR W ENS L TR T AL
RaWERS" 2 MEXT 3 FRINI

FRINMT " lhe soeor et Jnumber owass "2 8a8n

FEAIWTD 2 FRINI "Hi b cany Jkey o For canather Joame”

I LHRE vd="" THENMN &4

I L ped



166G
147@
1680

1 &5
170@

1718

1 7EA
17.5@
174@
1/7%0
176@
17784

1780
1798
1630

1618
1 8@

LOCATE 1.% 1 ERINT SFACES (79)
RE T LIRN

LOCATE 228 &t FEN 2 3 FRINT "Totgl  Score  "ta: TRAR{(21) ¢ "
lLast Bcore. "1}
FE TLIRN

LOGATE 4.5 3 FEN 35 1 FPRINT "GBuess_ at  the . Secret Nomber"

LOCATE 4,4 ¢ INFUT "and.press RETURN"j kE

imVAL (k¥) ¢ IF i=an THEN 1578

QlaINT (L Z710@) @ Q2=INT((1-qi»10@)/1@) 1 gi=i-gl*xld@-giix
1@

GLS 1 PRINT ¢ IF dl=gl THEN FRIMT "First, . Digit Correct”
s PRINT

[F d2=q2 THEN FRINT "Second.Digit . Correct" @ FRINT

IF di=g3 THEN PRINY "Third.Digit Corvect"

[F dl< =gl AND o< g AND dI<qQ3 THEN FRINT "No, Digits, C
orrect "

FiOR t=1 TL J00@ 3 NEXT

papda] o GOTO 120

ChexSum Tables

1@
<0
=
4
pul]
=1
P4
Hib
T
10
1l
120
1 5@
140
158
1 &@
170@

i

B E B H R B % B H H # K

g

180 =

190
LB

214 =

3 228 = @ G A = 1ETE
=17 A50 = 10@¢ 4480 = A998
2186 S48 = 1791 450 = 472

a4 400 = 2493 46@ = L4HS
4155 so0 =  1d&/ 4780 = 1473
B4 2780 =  bdLS 480 = 1956
e O 280 = A¥91 490 = 472

12351 290 = 152Q ol = 2484
77@ A0 = 561 wl@ = 1273
105708 1@ = 2416 D@ = 3955
(A Sl = 23E11 30 = 47

29% 6 S50 = 2349 S48 = 2484
11 S40 = 2EEY ooy = 1273
132 S50 = 2246 6@ = L9HG
i3l A6 = 2130 o= 473

BeSwh AT o= X207 DEE = 744
21450 A8 = 2UHH oY = 1275
Bt T SR o= L0884 4B = 5189
18824 400 = 442 &l = 473

A4 41 = @ bLB = 2745
L8 ) 2@ = 2485 HID = 1273



a4
i)
oY=l
70
aHA
a1
S AW
71
720
PR
740
Fiwl’i
A a0
77
FEA
990
B
H1D
H2?
=
B4
(< w] "}
Hé&W@
B/
HH0
1
SO0
710
520
G20
240
950
YLD
979
Y8V
9910
1@y
1@11@
1820
1858
1@4aA

B B 5 B 8 B R B

B il H
- H

Ui RE X EH

B

]
i

# H R B B R & 8 3 # B R B

5 B HR B R U G

5190
4 72
T
1273
o189
472
PTG
1273
w18y
478
s
@
1750
a8ae
1511
155
1724
1 506
YW
S&m
191&
2948
s
A
1805
1620
S094
| &6&4
L &dE
IZhé
&34
14664
L&34
4469
| 4 PR3P0
1447
1789
a1
&HEE
201
&

1250
13460
1a7a
LBEa
1890
11@@
1110
1120
11358
1140
1154
1146@
1170
1188
1190
1200
1210

124

1230
1248
1250
1260
1271
1 2B
14290
1308
13519
1328
1550
1.34@
1550
L5608
1370
1.580
1590
1400
141@
1420
14350
1448
14550

ER BN E

E R EN

E# EH# ERKR R B B8 8B & 2 4 ¥ HnB e BERHGHEH

EOE N OE R

i

'l 2 19
1556
i
&1 4
1 385
326
2089
2504
48151
1784
2413
409
w/d
<A1
b BT
1987
4128
1769
401@
1501
1279
L8328
251
Wi |
4é&.5H
2757
P
113%
2@1
4524
1251
il
4415
2797
el i
2a1
4433
2846
L8446
2525

<846

14460
1470
1450
144549
1538
1510
1520
15350
1540
1950
1560
1570
1580
15459
1 &G
1610
L &2
1650
1448
1 &5
1660
1670
1 &80
1650
1760
171@
1720
17350
1742
1750
1768
177@
1780
L7590
1800
1810
16820

TOTAL

H H

L

# 0B 3 B B B B R B & @ B B B E R EID W

fi

2

B

£ad3
2020
1588
281
]
A051
134%
4Bb6b
47
2153
@
2933
I799
4589
2001
4144
2759
QB3
1261
i s
@
9465
201
&
43560
201
@
5221
2250
£47@
6408
2931
2086
2399
w79
1419

1551

GaEELY



